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And if one asked for himself and one for himself they are nymw

OVERVIEW

The mawn (which the X712 cites here) states a case where there were two roads, of
which one was Xnv, and two people traveled, one on each of these roads, and
afterwards they touched n177v, and the 71wn rules that if they each came separately
to inquire as the their status and that of the MY, the MA7Y are NV, Our NBOIN
qualifies this ruling.
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When the 71wn stated that the n177v are MMAY, it did not mean that one person
may eat both sets of n177v, for if he will indeed eat them both, he will certainly

eat MMV which are N»W, which is certainly forbidden, but rather the 7aw» means that
separate people may eat each set of M7V, —

moon proves his point:'
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For this is what the Xn>12 states in the second 9o of nwwiaw noon, ‘he went on
the first road and did not enter the p"»7°2 afterwards, and then we went on the

second road and entered into the p"»7°2 he is 29m°? for entering the 7MW WIPN -
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! mooin seeks a proof for one may argue, if we allow two different people to eat each set of mAu (even though we
know that one of them is eating >XT1 7iXm11), so why cannot one person eat both n1777v. [Alternately one may argue
that since we already ruled for each individual that the m77v which he touched are v; that 2n°7 remains and
cannot be reintroduced (as part of a po0) even if both m7v are eaten by one individual (see "W mn).]
2 There too we are discussing a case of 1"7°2w '3, where one was Xnv and the other was 2170.
? The xn>™2 there continues; ]5133 I AT 12 AR 27,21 20 0101 M1wA '|5.'I 2"ARY LawY 7w T 010N NwRA2 '[5.'(
1w " own. [The X3 there continues; X7 XA TWHI an XNPHP2 1270K1 121925 how can W' be RN»npa w10 (when he
was not 0°°’n1°2 7171), he is certainly X»v on his second 71%"2.]
* He is 27 a (777 79w) 127 if he entered 3w and is 113 21 if he entered T2
> See X"wnn that we can derive from the second case of the X172 in MW (see footnote # 3, where he was 7777 and
7701 in between his trips) where if one person went on both roads he is 211 for IXmv2 WpH DR, even though it is
possible that each time he entered the w7pn he may have been v (the first time perhaps it was the road which was
7w, and the second time, perhaps the first road was Xnv and he was 7701 already from that 7X»0 through the aRT7),
nevertheless he is 271 for 1" he is 21 either for 71WRY 782 or 71w 1X°3, similarly here even though on each 72°o%
we are not sure that he is eating o°8»v mM7v (and therefore two people are permitted to eat them) but 1"» between
the two M7°3X, the one person ate 2°Xnv MY, [Alternately (see 2"wAmn and footnote # 1 [in the brackets]) that since
the Xn3 asks on w"7 (see footnote # 3 [in the brackets]) how could he be Xn>np2 V1 since he is surely Xnv, when
seemingly we can answer that after he went on the first road he asked and was told he is 7170, so therefore that 7n°n
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Because he is X»% in any event (either by traveling on the first road or on the second
road).

SUMMARY
In a case where each one asked separately and we rule that the two N7 are MY
that is only for two different people but not for the same person.

THINKING IT OVER
1. Why is it that both the "w7an and X"w=m are of the opinion® that moon proof
cannot be from the X2 which Mmoo actually quotes?’

2. Why did not nv01n bring proof (that one person may not eat both n177v) from
the ruling (in this same mwn) that if they asked simultaneously everything is Xnv;
one person eating both MY is seemingly the same as R"22 19Rw1?! Similarly
Moo could have brought proof from the 71wn in MA7Y (cited in the previous '0IN
T2m a"7) that by 122w '2 and one person if he was not J7vn in between, the mnmw
are nxno.”

remains and cannot be introduced again later (as part of the p50). The fact that the X713 did not consider this answer
proves that we do reinstate the 50 once there is a 1"nn that now he is certainly &nv, the same is here that we
reintroduce the previous 07 as part of the P90 and the two sets of m1nv are forbidden to eaten by one person
because one of them is 1"nn Xnv. See ‘Thinking it over” # 1.]
% See footnote # 5.
7 See 718 X"wmn who cites commentaries who derive N9 proof from the Xw™.
8 See X"w1mn and oM .
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